
SKIMMERS, SPA

S
K

IM
M

E
R

S
, S

P
A

HAYWARD &
JACUZZI 186

HYDROAIR,
WATERWAY 187

WATERWAY 188



HAYWARD & JACUZZI
 COMPLETE & PARTSSKIMMERS

S
K

IM
M

E
R

S
, S

P
A

Parts Listing and Diagram

Key No. Part No. Description
Hayward - SP1099S:

- APCB202 Basket 1
- SP1099S SP1099S Skimmer, Complete -
- SPX1099B Basket 1
- SPX1099C Cover Plate, ABS 1
- SPX1099E Gasket 1
- SPX1099FG Air Relief Valve Kit 1
- SPX1099K Weir 1
- SPX1099Z1A Mounting Screw, Washer Nut 10/set 1

Jacuzzi- SV:
1 13046206R Gasket
2 N/A Body
3 43078500R Basket/Float Assy., White
3 43078511R Basket/Float Assy., Black
4 43067701R Float, White
5 14393607R000 Fastener Kit, 10 each screws, nuts, washers
6 23472608R Umbrella
7 43067602R SV Basket, White
7 43067703R SV Basket, Black
- 94110202 SV-B Skimmer, Black, Complete
- 94110467 SV-W Skimmer, White, Complete

Page 186



HYDROAIR, WATERWAY
STRIP SKIMMERS  COMPLETE & PARTS

S
K

IM
M

E
R

S
, S

P
A

Parts Listing and Diagram

Key No. Part No. Description
Hydro Air:

1 HA306520 Skimmer Face Plate
2 HA306521 Skimmer Grate
3 HA303801WHT Wall Fitting
3 HA303803 Wall Fitting, Extended
4 HA303804CLR Gasket, Wall Fitting
5 HA306104 Straight Nut
6 HA106103 90° Nut
7 HA106500 Skimmer Assembly, Straight Nut
7 HA106530 Extended Skimmer Assy, Straight Nut
8 HA106509 Skimmer Assembly, 90°
8 HA106539 Extended Skimmer Assembly, 90°

Waterway:
9 WW6406920 1-1/2" SKT x STD Nut, White

10 WW6406940 1-1/2" SKT x 90° Ell, White
11 WW6406960 1-1/2" SKT x STD Adapter, White
11 WW6406961 1-1/2" SKT x STD Adapter, Black
12 WW6406607 Adjustable w/Lint Basket 1/2" SKT Ell, Gray

Note: Other color options may be available. Please call our Customer Service Department @ 800-234-6700 to see what is
available.

Page 187



WATERWAY
 FRONT ACCESS, COMPLETE & PARTSSKIM FILTERS 

S
K

IM
M

E
R

S
, S

P
A

Parts Listing and Diagram: 100 SQ. FT.

Key No. Part No. Description No. Req'd
1 WW5196650 Front Plate, White 1
1 WW5196651 Front Plate, Black 1
1 WW5196657 Front Plate, Gray 1
2 WW5196640 Filter Retaining Ring 2
3 APCC7144 Cartridge, 50 sq. ft. 2
3 WW8170050 Cartridge, 50 sq. ft. 2
4 WW5506620 Filter Body Assembly, White 1
4 WW5506621 Filter Body Assembly, Black 1
4 WW5506627 Filter Body Assembly, Gray 1
5 WW5196610 Basket, White 1
5 WW5196611 Basket, Black 1
5 WW5196617 Basket, Gray 1
6 WW8190006 Screw #12 x 1-1/2" PFH 14
7 WW5196680 Mounting Plate, White 1
7 WW5196681 Mounting Plate, Black 1
7 WW5196687 Mounting Plate, Gray 1
8 WW8191250 Screw #6-20 x 5/8 POH 4
9 WW5196240 Hinge Mount, White 2
9 WW5196241 Hinge Mount, Black 2
9 WW5196247 Hinge Mount, Gray 2

10 WW5506600 Weir Door, White 1
10 WW5506601 Weir Door, Black 1
10 WW5506607 Weir Door, Gray 1
11 WW6725090 Skim Filter Manifold Adapter -
- WW5106600 Complete Skimmer Assy. w/(2) 50 sq.

ft Cartridges, White, 2" spg
-

- WW5106620 Complete Skimmer Assy. w/100 sq.ft.
Cartridge, Oval Style

-

- WW5109100 Complete Skimmer Assy. w/100 sq. ft
Cartridge, White

-

Parts Listing and Diagram: 50 SQ. FT. SKIM FILTER

Key No. Part No. Description No. Req'd
1 WW5199010 Front Plate 1
2 WW5509000 Weir Door Assembly 1
3 WW5199050 Basket 1
4 WW5509010 Filter Body Assembly 1
5 WW5196640 Retainer Ring 1
6 APCC7144 Cartridge, 50 sq. ft. 1
6 WW8170050 Cartridge, 50 sq. ft. 1
7 WW5196240 Hinge Mount 2
8 WW8191250 Screw #6-20 x 5/8" POH 4
9 WW5199040 Mounting Plate 1

10 WW8190006 Screw #12 x 1-1/4" PFH 10
- WW5109000 Complete Skimmer Assy. w/50 sq. ft.

Cartridge, White
-

- WW5109020 Complete Skimmer Assy. w/50 sq. ft.
Cartridge, Oval Style, White

-

Page 188



WATERWAY
SPA SKIMMER & SKIM FILTERS  COMPLETE & PARTS

S
K

IM
M

E
R

S
, S

P
A

Parts Listing and Diagram

Key No. Part No. Description No. Req'd
1 WW5194050 Weir, Floating 1
2 WW8651000 Foam, Weir 1
3 WW9161010 Escutcheon S/S 1
4 WW5194047 Trim Plate, Plastic 1
5 WW5194030 Basket 1
6 WW8196930 Screw #8 x 1-1/2", Flathead Philips 10
7 WW5504060 Body, Spa Skimmer 1
7 WW5504080 Body, 10 sq. ft. Skim Filter 1
7 WW5504090 Body, 20 sq. ft. Skim Filter 1
8 WW8061070 Gasket, Square Skim Filter 1
9 WW5191600 Mounting Plate, Optional 1

10 WW5194010 Diverter, Upper 1
11 WW5194060 Diverter, Lower 1
12 APCC7026 Cartridge, 10 sq. ft. 1
12 WW8170010 Cartridge, 10 sq. ft. 1
13 WW4176080 Hose Adapter 1
14 WW5194020 Hinge, Square Skimmer 2

Complete White Skimmers w/Cartridge & Flow Control:
- WW5101500 1-1/2" SKT/2" SPG Trim Plate -
- WW5101600 1-1/2" SKT/2" SPG, 10 sq. ft. w/Trim

Plate, Basket
-

- WW5101650T 1-1/2" SKT/2" SPG, 20 sq. ft. w/Trim
Plate, Basket

-

Page 189




